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Perhaps it will linger by him so it will come to a mishap

Overview

The reason why 70 72190 9173 is because we are concerned that he may keep
XML 72170 by him and it will result in a 79pn that he will eat it.! There is a dispute
between "1 and MooIN as to the interpretation of this reason.
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>'"w9 explained, so therefore they decreed that even if he plants it, it will still
remain JIN®Y 7%190; this is the meaning of 71170 72170 *717°3 (that it remains XY 72170) —

n1voIN asks:
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And the "7 has a difficulty with "9 for the X713 (citing a 71wn) states explicitly

in YW 9> pas; ‘the shoots of IN»Y 77721 n -
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Are 7970 from being X»un others and are forbidden to be eaten’; meaning that it
is forbidden to be eaten by non-2°1712, as 727 explained there; it is evident that for

291715 this 72170 *717°) is permitted to be eaten. This contradicts >"w1 that XY TN *7A
are 70K to eaten (by 0°1712).

Mmoo explains the 77713 of 172 772 ARML 7A7N:
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And one can say; since 2997 cannot eat the 7RV 72170 ¥917°), the 175 will not retain

! 7%mv 7170 may not be eaten and needs to be burnt.
2 own a7
3 The 175 may be hesitant to burn this 782V 7170, and will decide to plant it instead, and eat the produce, which is
n"nn v, However we are concerned that until he plants it, he may accidentally eat it.
4 Now he will not wait to plant it since the 2170 *2173 will also be ¥mu. Therefore he will burn it immediately and this
will prevent any 72pn.
3 This is actually (also) a mwn in 1" ©"s N¥1IN. See ‘Thinking it over’.
6 7m0 is generally much cheaper than 1211 (for there is a very small market for it). The 312 has two choices what to
do with his Xnv 7m0, he can use it as fuel (which has a certain monetary value), or he can plant it and harvest it
(with all the accompanying difficulties involved), and eat it. This may be worthwhile for him if it is considered P>,
but not if it is 7170, even though it may have a somewhat greater monetary value than burning it. The difference
however is so small that it is not worth for the 373 to do so. [In addition he could use this land to plant 177, which is
more profitable.] This is accomplished by making the injunction that 70 72170 *217°3, so even though it is 117w, but
the 1772 will not retain it for this small profit. However if 7m0 2173 were 121 (which is more expensive than 72170),
the 77> may possibly retain it for planting (and accidentally eat it).
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in his possession this 7%nv 72170 in order to plant it, since there is only a small
profit in making the 72170 to become 2970,

mooIn anticipates a difficulty:
= 195% YYD 597 192 390N (3,5 97 7DINDIT KNP P99 9ID2) NYPNY 11U XINT XM

And this issue that here in our X7 we are concerned for a 77%pn by mmn,
however in the end of the first P25 of 2’12 noon, we find that "2 rule, ‘use it as

a spray’; so we are not concerned for 190, however here we are concerned for 79pn —

mooin replies:
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We can say that here by the 7m0 food, 172 admit that we are concerned for %P0,
for occasionally it may be necessary to wait an entire year until the planting

time, therefore we are concerned for 77PN, but by the spraying, the wine will be gone in a short
time, therefore there we are not concerned for 772pn.

Summary
TRPY 72170 9173 according to "W remains XMW 717N, and according to MHOIN it

becomes 770 7170, The longer the 7m17n is held the greater the wwn of A%pn.

Thinking it over

MdoIN asks on *"w from the X713 in 2105 where X217 interprets the 71wn of o MOX
79°382 to mean 217709 NN 212 77oXR.2 However in the X1pon there in o°no it
turns out that 2°1773% AX 70K, so what is M90IN question on >"w?!°

7 The X7n3 there cites a X2 regarding a barrel of 170 wine which became Xnv. The w"a maintain that it should be
spilt out (out of concern that if it will be kept, it may be eaten); however 7"2 maintain it can be used as a spray (they
would spray the wine for a pleasant aroma), for we are not concerned that it may be eaten.
8 See (by) footnote # 5.
? See "1 XA X"
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